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Quantity Basic unit Symbol

Length meter m
ass kilogram %

{ Time second s
—;% ampere A
— Thermodynamic temperature kelvin K
— Luminous intensity candela cd
(Charge) coulomb C
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Multiplier Prefix Symbol
10'% exa E
10" peta P
10'2 tera T
10° giga G
10° mega M
10° kilo k
10° hecto h
10 deka da
107! —> deci d
1072 —> centi C
10~ —> milli m
10~° —> micro o
107° — nano n
10712 —> pico p
107" — femto f
10718 —7 atto a
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The Sl prefixes.

Multiplier Prefix Symbol
10'® —> exa E
10" —> peta P
10" — tera T
10° — giga G
10° — mega M
10° — kilo k
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107! deci d
102 — centl C
1073 milli m
107° micro I
10~° nano n
10712 pico p
1071 femto f
10718 atto a
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1. A voltage-controlled voltage source (VCVS) ﬁg 39(1%)
2. A current-controlled voltage source (CCVS). —

3. A voltage-controlled current source (VCCS). — S F(om)
4. A current-controlled current source (CCCS) g
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